in2

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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¢Y

inputl




outputl

outputl with epsilons (outputl-targetl)

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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output2

output2 with epsilons (output2-target2) —<—

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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outputl / output2

1.5

0.5

outputl with epsilons (outputl-targetl)
output2 with epsilons (output2-target2) +—f—

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”™~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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inputl outpul

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]

points in the domain and codomain

1.5

0.5

¢Y

input 1




points in the domain and codomain

input2 < output2 A

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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points in the domain and codomain

1.5

0.5

-0.5

-1.5

inputl outpul

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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points in the domain and codomain

input2 < output2 A

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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epsilons of outputs

0.1
0.08
0.06
0.04
0.02

-0.02
-0.04
-0.06
-0.08

-0.1

-0.12

epsilonl = outputl-targetl epsilon2 = output2-target2 X
test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”™~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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epsilons of outputs

epsilonl = outputl-targetl epsilon2 = output2-target2 X

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”™~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]

0.1

0.08 |- + -

0.06 |- 4+ +

0.04 - oY X 4o Jr%*
X

0.02 - +><
& L
X

-0.02 -
-0.04 -
-0.06 -
-0.08 -
0.1 -
-0.12




epsilon2

epsilon2

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”™~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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number of samples (#test samples)
in the domain [-4.5, 4.5]

5000
4500
4000
3500
3000
2500
2000
1500
1000

500

inl in2 X

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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number of samples (#test samples)
in the domain [-4.5, 4.5]

10000 ¢

1000

10

100 ©

inl in2 X

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]

X

X
Ll

£
Lol

1
MR AP S L P S LR WY M o A S O O R o £ GOR L



number of values in

2500

2000

1500

1000

500

epsilonl epsilon2 X

test case: (inl,in2)=(outl,out2)=(gaussl+noisel,gaussl”™~2+noise2):
gauss=N(0, 0.4), noise=random[-0.1, 0.1]
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bins of epsilon [-0.305, 0.305]



